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Midterm

1h30, closed-book. If you are a non-native speaker of English and need a grammatical judgement on a
sentence, write down the sentence on paper and raise your hand.

I. Morphology

1. Michoacan Aztec (20 pts) 20/,29

nokali ‘my house’ kali ‘house’ v

mokali ‘your house’ ¥ mopelomes ‘your dogs’
nokwahmili ‘my cornfield” - nopelo ‘my dog’ v
kalimes ‘houses’ v nokwahmilimes ‘my cornfields’ .~
mopelo ‘your dog’ +/
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b. List the morphemes present in the dataset ‘
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c. Givethe morphoToglcaI rules associated with the affixes you identified.
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d. Does the order in which your rules apply matter? Explain using Iternatlvemor a word of
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e. Whatis the word for ‘your cornfields’?
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2. English (14 pts) W'/H'
Consider the word agreements

a. Give the rules you need to derive this word
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b. What type(s) of morphological rules are they?
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c. Find words of English that justify your rules
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d. Give the derivation of agreements using your rules.
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e. Draw its morphological tree.
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Il. Syntax
1. Constituency (120 pts) [0
In the following sentences, is the underlined part a constituent? Justify your answer.

a. Alight flashed on the phone.
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b. Rachel thought that Peter was away.
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c. Rumiread a boring book yesterday morning.
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2. Ambiguities (20 pts) ‘20/29/

Which one of the following sentences is lexically ambiguous? Which one is structurally ambiguous?
Explain your answers, and draw the syntactic trees for the structurally ambiguous sentence.

a. Felix hit the man with a suitcase.
b. Ilike working in Ben’s company.
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3. Coreference (15 pts 11?752

Can the underlined parts in the following sentences corefer? Why?
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3. Drawing trees (21 pts) 2'/2—
Draw the syntactic trees for the following sentences.

a. What did Heather see in the park?
b. Paula will not dance.
c(toto yono -ye ) kamara (sentence in Hixkaryana, spoken on the Amazon River in Brazil)
Emap: eat  PAST \jagsuar '
> DN Vv —
‘The jaguar ate the man.’
X/ o

A) whar did Header See in e pavi 7

S \ t SV - =
Heptaw ik See -Suvtdhaing ey L i sy

cP

c e
. 3+ % NP /\ "
What- LAy
Cpas¥y\ 5 v v P
\ - l e R B
N V
\\\ Heotve v s aoamme /\
\\\ / 5 PP
, \
N
\\ \J /\ NP P/
\
\ She “\" P/\ NP
N " /\\ r\)’
+t Det- .
e ~J
paY‘(
BJ Racalon L ioiils noks dance . I cn) C-*OJ"“’ OO e ] Ik avaavrg
%\ * HEAD CinAC®
Te \
/\ f i
s SF Te
\v /\ > N
N T [\jecﬁ-P Tl NP
)
C‘pu*\/\‘fe—l { | |
N i ls Neg.' VP/\ B N
i S 9 = ‘
: \V paSt)
Neg v Tge N
noi— L7 v kKamara
\ NP .
\ \ \{)OV\D J”\%V\O\\/
v N! ok
o\\cm& \
N
toto



